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GENERAL INSTRUCTIONS TO THE E
. (1) el adem ST weA- AR

- Candidates must mt@@ct
@) @ aﬁa’f@%

All the questions are compulsory.

® e S T IR 7§ S i & ford |

Write the answer to each question in the given answer sheet only.

@) T st 3 srwales wos , 37 @) % o w w e |

For questions having more than one part, the answers to those parts are to be written
- together in continuity.

(5) T 1 TR Foram | g R 61 ShEIh 3T o |
Write down the serial number of the question before attempting it.
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2
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If there is any kind of error / difference / contradiction in the Hindi & Ep olish
versions of the question paper, the question of Hindi version should be treated valid.

() e 178 23 st foee § | TRt O feeen At em i |
Question Nos. 17 to 23 have the internal option. Attempt any one optiop, - +
gis - A
SECTION - A
1. El’g'ﬁiﬁaﬂ I3 q?‘%
~ Multiple Choice Questions : _ @ X
(i) ‘G el S A A, s—‘&&ﬁ IR e §
(31) e fam &, @) oy . 3
(@) A S 3&@ @) W S |
The author of the book@;m General Theory of Employment, Inter ! |
(A) Adam Smith ¥ (B) Alfred Marshaj Test and Money’ is
(C) John Maynard Keynes (D) Paul Samuesqy,
(ii) T 2 H T &
(31) wTH (@) =
(®) gt (®) =my |
The remuneration of human labour is .
(A) Rent (B) Interest 1
(C) Wage (D) Profit \
(ifi) T T 3 A S areft v & '
) Vi C |
( . (¥) wrg 1
(|) TIEE @) = |
Quantity measured over a period of time |
(A) StoCke » (B) Floy s
I reciation (D
.‘| (C) Dep ) Wealth '
|
10l
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(iv) Wﬂqﬁ:@ﬁﬁﬁﬁﬁaﬁﬁﬂ?ﬂ%
(31) S 3T 3foear (9) R ¥ e givear
(®) A % 7w s (®) ool S 31 s
| The institution issuing currency in India is 1
(A) Bank of India (B) State Bank of India
(C) Union Bank of India (D) Reserve Bank 6f India
(v) FHERR % fory werd awet afi are @
(1) M, . (&) M,
(@) M, @ M,
The most liquid and easiest for transactions ' 1
(A) M, - B) M,
C) M, | (D) %

. ﬁt‘

(3) 1wl | 3 pfeEe KN (@) 19330 38«

(@) 1 aerd 31 ae (@) 1o 30 53

The period of Financial Year in India is - 1
(A) 1 January to 31 December (B) 1 March to 30 April

(C) 1 April to 31 March (D) 1 July to 30 June

(vii) WW%WW%&@WWW%

(31) ISfiard) srefegaeen (F) Fipd AeTeg refereeRn

() g arefemaeen () TSR STeiegereen

The economy in which all important economic decisions are made by the government,

is called 1
(A) Capitalist Economy (B) Centrally Planned Economy

(C) Mixed Economy (D) Market Economy
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(vii) Eeia SRR <61 IO 6T g R |
() MU,=TU,-TU, _, (®) MU,=TU,+TU,_,
(@) MU, =TU,~TU,,, (R MU, =TU,+TU,,,
The formula of calculating Marginal Utility 1
(A) MU, =TU,-TU, _, (B) MU,=TU,+TU,_,
(€) MU, =TU,-TU,,, (D) MU, =TU,+TU,,,

(ix) TR BeM 2

(31) X=f(K) (&) X=AL)
(®) X=f(p) (R X=fQ)
The Demand function is od
(A) X=1(K) 5§§§k=ﬂm 1
(C) X=1(P) ¢~ '

¢V O xr

i N <
¢¥
Vi St : :

(x)

(37) ﬁ@cﬂﬂ%léﬁg
(%) sfa drefemrer (%) defprer

Returns to scale is related with

() raFe

(A) Very short run period (B) Sho t run San 1
(C) Very long run period (D) Long ryy .
(xi) 3Gd IeITE S3F T FTHR B
(31) 3 TR () Iepey 3 | |
(w) afesita @) Feate |
The shape of Average Product curve is
|
(A) U shaped B) Invers, U shy 1
(C) Horizontal (D) Vel“tical Ped ﬂ
geon
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(xii) F IR ST 3 et
(3) < ffa stiresan gar 2 | ) aaﬁv’raﬂfl?m@?ﬂ%l
(@) = frfay=aare (3) w=friaRraard)
Total Variable Cost is zero 1
(A) when the output is highest. (B) when the output is lowest.
(C) wheq the output is zero. (D) when the output is constant.
Freard T T gfd FHifda

- B

Fill in the blanks : _
() ST HIE 29 fava % o= i @ aqd whea 2 | 3 e S |

When a country buys goods from other countries of the world, it is called . 1

(ii) Tt <61 v wEa=E ATEE R
is a common medium of exchange. 1

(i) M-ASATA T HITgE@TE %ﬁ'\m 4

The main item of non- plwﬁ?ﬁﬁi@re is : 1
(iv) Wﬁwﬂ%mﬁmﬁ% r

Scarcity of resources give rise to the problem of . 1
) Toft SwiETsT i A w5 S B 2 | '

The is the total demand of all the consumers. 1
(vi) S Tt o fartdl o Wed geY i ewiar |

function shows the relationship between inputs and outputs, 1 !

3. o 9 v 10-20 wrsdt 1 S
Answer the following questions in 10-20 words :

(i) TN sreferereen 1 1 v fsivar fafg |

Write any one characteristic of a capitalist economy. 1
(i) T Yoy s @y wree Hif | |
Explain the National Disposable Income. ‘ : 1
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(iii) T ¥ U T B X 100 [ Y TG 1 IAGH FA @ | 36 T A T 40 A wemarel§ wwg o
ST ToRRI1 STl & 1 A o1 Hehet Hesreifeia TReRferd i |

A firm produces goods of worth ¥ 100 in a year. In that year intermediate goods of
worth T 40 is used. Calculate the gross value added.

(iv) aﬁmmﬁﬁ%ﬁmm%?ﬁw@ﬁﬁmmﬁq;ﬁmwﬁ? | 1

If you have savings account in a commercial bank, what type of deposnt i1s called the
deposit in this account ?

1
(v) SHEFME ? GuEsT | , |

What is Bank rate ? Explain. 1
(vi) HAfTT soTe =t yitaiig ik | | ’

Define Balanced Budget. 1
(vii)mﬁrwwaﬁéqass%‘mmql |

State any one objective of govemment budget.

1
(vxll)m%mmézﬁm% 291

,r‘"-’x

€
What is meant by productxon,’pcw’blhty set of an economy 9

G ﬁ%@ﬁﬁnﬂow@fﬂaﬁ%a}%ﬁﬁmmmmwg -
i o B 7 gjﬁ“ Kl
If price of Bahghas increases by 40 percent, demang

20 percent. What will be the price elasticity of dey, b

and 7 anas drops by
(x) JACTHTT TR ?
What is short-run period ?
(xi) T 3T 6T Torn 1 g feafta | ' 1

Write the formula to calculate marginal Product.

(xii) T ScreTgTeh ST <6 g T wrev fafig | Ld

Write any one feature of a perfectly competitiy e Mark
t

1
Ecor
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SECTION - B

forey w2l o 3T 30-40 el 1 difeTa

Answer the following questions in 30-40 words :
4, IOHITET TG AT ST G H ST F HIS < I T |

Give any two examples each of consumer goods and capital goods.
5. Hhel TSI IedTG T Hehel TLe] I ST SHTLIONSH] o T, |

Explain the concepts of Gross National Product and Gross ngestic Producf.
6. SATTETRIE Aokl < fohal Q1 J&T T &1 9o Hifd |

" Describe any two main functions of Commercial Banks.

7. 1%WmmﬁﬁhﬁﬁFﬁaﬂaamﬁ%@éﬁﬁﬁfhui%
P S
Mention any two items of ca @’reggptg?
‘X 9 4.'0
g, T S 1 S ehfteaTt fafae |

Write any two features of public goods.

9. wmamnﬁémmaaﬂ%wﬁm%éﬁmam%ﬁmu

Write two examples each of the direct taxes and indirect taxes.

10.  TSTE €12 <Y 7oy S50 bl Sl & 7

How revenue deficit is calculated ?
11. Srfeae i i af el T forfaw |
Write any two central problems of an €conomy.

12, Y 3TN TG Sl ol IETET <At HeTerar § geeey |

Explain complementary and substitute goods with an example.

SS-10-Econ.

1+1=2

1+1=2
1+1=2
1+1=2
1+1=2
1+1=2
2
1+1=2
1+1=2

[ Turn over



13. mﬁmﬁaﬁsﬁrqaﬁmﬁﬁwsm

Draw a diagram of an indifference curve.

2
14, Fo R 0T I3k oh8 SRR T 21 2 7 IS Ush 10T SIfoT |
What is the shape of Total Fixed Cost Curve ? Give any one reason. 1+1=2 é |
15, TG T STELn hi St i |
Discuss the concept of Average Revenue. 2
16. TSR Yfd 61 319 T Hif |
Explain the meaning of Market Supply. 2
g g -4
SECTION C
ot AT <6 I 60-80 wreai aﬁﬁm
Answer the following questions in 60-80 words : y
17. el TIie] IeTE W o6 AT e i gy et |7 T 3w R oy S~
=T it | N
“Welfare does not increase with the increase in Gross Domestic Product» p;
two reasons with reference to the statement. 1SCuss any 3
FYST/OR :
ﬁmmaﬁmﬁmmmpm)ﬁmaﬁm;
(1) =TS e ot TR T 3erg 31,0009 .
(i) T %200 Fire
(iii)  STSTCTET oy ?150¢ﬁg 2/
(iv) 3 250 irg
y q‘}__ E{Un

—— e —
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Calculate National Iﬁcome (NNPp) with the help of following data :

(1) Gross National Product at Market Price % 1,000 crore

(ii)  Depreciation | % 200 crore
(iii) Indirect taxes ' % 150 crore
(iv)  Subsidy % 250 crore

18. H=1a b b fohegl ot sl w1 Ui IR |

19.

Describe any three functions of the Central Bank. 1x3=3

IYET/OR

Explain any three tools t%pmqrel mmney supply.

OF"

w&m@mmﬁamﬁmi

Explain briefly Micro-Economics and Macro-Economics. 1% +1%=3

3UET/OR
Waﬂﬁmﬁﬁwwmmﬁhmﬁw%mmwm |

Differentiate between Positive Economic Analysis and Normative Economic Analysis.

20, ue I <Y A T 10 T T 100 FehTsT § | i deet T 12 B T I St 120 et

SS-10-Econ.

S & | g i S W wE hI |

The price of a commodity is ¥ 10 and the supply is 100 units. If the price increases to ¥ 12

and supply increases 10 120 units, calculate the price elasticity of supply. 3

YT/ OR

[ Turn over
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Ife; e ot wioereff s v T5g & Hig 10t 3968 2 T <t g% et & e wefe v ,

H AT ST <h1 T HIfT - - 7 oy |
ShEaen | gueen® | dara genf | |

(318 ®) ® | \

1 ' { B

1

2 :

3 '

If the price of a good in a perfectly competitive market is T 10 per unit, compute the total
revenue and marginal revenue in the given table : ‘ .

Quantity Sold | Total Revenue ‘Marginal Revenue g
(Units) (?) (?) N
1 @ | |
o=
2 A0
2 i\zﬁ_
3 P, N |
o fi "ff} ‘F-t ;
Py
& "\ﬁ;'.i":-' 1 |
gﬁ 3
g - @i —§
SECTION -D
fr= Al % 3T 100-150 vreet 3 i -
Answer the following questions in 100-150 words : :
21. WTE G i ol & dimnat =t weesy | .‘
[xplain any two limitations of credit creation. : .;
3IYET/OR . 1‘
|
W{ﬁ%aﬂgﬂ@m'ﬂqml v;“

Explain the four major measures of money supply.

. p-E€co™
551
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w2 o e e P o e & e R |

Explain movement along the demand curve with the help of diégrams.
FYET/OR
it <t < @i < s faf ! i FHETE |

Explain the geometric method of price elasticity of demand with a diagram.

EECLENI m%mﬁm%@ﬁaﬁwﬁﬁm |-
Discuss the law of variable proportlons @@\ﬁmlp ofa dlagram

___:,.mZgB
S "ﬁ*ﬁaﬁfmﬁ%@ﬁa‘reﬁwﬁww 1

st with the help of diagrams.

™

Discuss Average F 1xed Cost and Average Variable Co
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